200801 (Db oouob4g w20b0u0g g

oo1

(1) dz = Zcosht/cosh® (Zsinht) d¢ 00DOD0OO00OO0000O00000000O

5 cosht

> 1
I= / - L (1)
—o0 </1 — tanh* (g sinh t) cosh® (5 sinh t)

(2) t - 00000 tanh (Zsinh¢) - +1000000000000000000000 400000
00100 1000000000000000000000000000000000000000
oooooo

1 — tanh* (g sinh t) = {1 + tanh? (g sinh t) } {1 — tanh? (g sinh t) }
1 + tanh? (% sinh t)
cosh® (Z sinh ¢t)

ddoddoooooobooooooobooo
) 2
2 (7w _:
—oo </ 1+ tanh? (T sinh¢) cosh (5 sinht)
Z cosht

/—oo {‘/1 + tanh?® (Z sinh ¢) cosh? (% sinh t)

/°° cosh? (Z sinht) T cosht

dt. (3)

(3 000000000000 OUOOOUUODESfODOOOO

(4) N=1603206401280 00000 (3) 00 0000000000000 O IynOO0O0eyO0OO0OOO
oooooND 20000000000 200000000000DO0O0OODDODOOO

N | In en

16 || 2.22665725524043 0.00521578616125
32 || 2.22145666472591 0.00001519564673
64 | 2.22144146931651  0.00000000023733
128 || 2.22144146907918  0.00000000000000

oo 2
() 0000000 0O0oOoOoOoOoOooDoOoooooon

Tpi1 = Tn + h(Tn — 2yn)
Ynt+1 = Yn + h(xn - yn)

(4)

(2) 000000000 (%n,y,) 00000 000000 100000000000 (ZFn41,ng1) 00
000000 %n,yn) 0 (Fny1,9np) 0000000000000000000000000000
0000000000000000000000000

{ Tnt1 = Tn + h(zn — 2y,)

(5)

gnJrl =Yn + h(xn - yn)



(6)

Tnt1 = Tp + % {(xn - 2yn) + (in-i-l - 2gn+1)}
Yntl = Yn + % {@n = yn) + (Fn — Gn+1)}-

(3) 0000000000000 DO0OUOOEuer2df0000000O0O0OOOOOOOOOOOO

(4 0000000000000000000Heun2df00 0000000000000 0OOOOOO

(5) 0000000000000 z=cost+sint0y=sint000000 27000000000000

0000 10000000000000000000000000000000000000000
0000000000000 0000000D0000000D000D0D0No0Nnononooononoo
0000 —vV2<z(t) <V20-1<yt)<100000000000

oo 3

(1)

D*DDDDDDDDDDDDDADDiDD(¢§“4DDDDDDDDDDDDDDDDDDD
DDDADDjDD(¢@*‘DDDDDDDDDDDC:D*ADDDDDDDADDDDDDD
oooooo (i+1,4)000 (/¢000 (5,i+1)000 /20000000000D'ADOOO
0000000000000 4+1,i0000004,i+10000000 aec=r000ODO

00000 (C—-A)v=00000 I0D00000O0D0 j0000000000
rvj_1 + (b= ANv;+rvjp =0 (j=1,2,...,n) (7)
00000000w=v,4+1,=000000000000 (nO0OUOO 300000000

vj:cleije-i—ch_ijoEl vo=00v,4.1 =00000000

() c1+c=0 (8)

Uppr = TP 4 ppemint )0 — 9)
O00 cg=c=000000000000
e nto _ gilnt1) — (10)
gooogo
sin(n +1)0 = 0. (11)

000060 +2mad mO0DO000000000 v, 0000000000000600 #+x00¢
0cO000000000000000000000<9<r0000000000000000
(n+1)0=0,7,2n,...,nr0000000=000000v; =c14+¢01<j<n0000000 (8)
00 e14+6=0000000v=0000000000000000000000600

0— km

(k=1,2,...,n) (12)

0n000000000 8)00 ca=—- 0000006 =-c=5000000
0000w = %€’ — Le % =sin(j9) 00 (7) 0000000

(2

rsin(j — 1)0 + (b — A) sin(j6) + rsin(j + 1) = 0. (13)



gooogn
sin(j6) (2r cosf + (b— X)) = 0. (14)
ooogbog b1y <nbogbboboboooboboonogoo
2rcosf+ (b—A) =0, (15)

gobooooobod
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